2l.

Match List Twith List IT and ge
List I (Event)

leet the eorrect answer using the codes given below lists :
List 11 (Year)

@ Special Bconomic zones policy 1991

() New Foreign Trade policy , 2000

{(¢) Goods and services Tax gct " ;015

(d) Narashimham Committee Report Z ;017
(a) (b) (©) ()

) 2 3 4 1

® 2 4 1 3

© 4 2 3 5

M 4 3 2 1
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The father of Green Revolution in Ig 13 Was) ¥

. N.R. clcvauprgen

" < s c,_\;
(A) M.S. Swaminathan ) q;’b« "??b\\"?
(B) Gandhi S “.{@‘ §3
(C) Visweswaraiah Q;Qé‘}?
(D) N.R. Viswanathan
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1L. The process of urbanisatio
. : ' correct?
Which of the statements given above is/are correct’

) Tonly

, , v people
Poverty alleviation and welfnre of the peog

it in rural areas

M) 1 only l .':‘:\
(.C) Bath | and 11 h\}::/,:}g}i‘éa/
(D) Neither I nor 11 \.f:)t‘ \(703:?) \_c‘;v"
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124.  Which of the following is/are eligible for “Kisan credit card"?
| All the farmers
1I. Share croppers
IIl.  Tenants

Select the correct answer using the code given Belo:géi“}t
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-126. '

126 Arrange the following in chronological order
R B '

Communal award ~.
2 Nehru Report
3. Gandhi Irwin Pact
4. .Visit of Simon Commission 4
@ 3 2 1 4
B 4 2 3 1
© 2 4 3 1
™ 1 4 2 3 S 2
Werau(meueTeupen D ssnmsulﬂmguulq_c?@.g@g%%;;\\&;{&
) aguys QamenL {/t,g*(b\\x" (5‘:,,&;% ‘
2. Com Hsms <§°o\/ b\‘\cb' gt\&%\‘“\
3. ST @naﬂm @UUBSLD (}Q@Q?:)
4. NEET G CUTHENS ¢
@a 3 2 1 4
B 4 2 3 1
© 2 4 3 1
® 1 4 .2 3

Match the following connected with the year of Acts

(a) Introduction of communal representation 1. 1935
() Rightof discussing Budget 2. 1919
(6) Separation of Burma 3. 1909
(d) August Declaration ' 4\ 1892
@ o © TS
(A) 3 1 . 2 ;M'.-,:v»'.' C:G (DQ (‘t\}’
, g 4 1 2 R Sy
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© 2 1 ¢ 3 esy
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Lo GAGELGED <8 1909
@ () © (d)
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127. A Person crosses GoQ m long street in 5 minute. What is his speed in ki per hour. ¥
(A) 36 : By 7.2
© 8.4 | ) 10

QO Ut 600 B Bargpetar @ AsEH® 5 HAO_maalsd sLiApnt aaili saufidr Gausias
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128. A man travelled ﬁ of his jonrnqdﬁ'b\jiagkqﬁ@h;; by rail and walked the remaining 1 km.
S
S
] _ How far did he go? c"Q\ifb
l (A) 22km (B) 20km
(C) 33km (D) 27km
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129. A ramp for unloading a moving tr a@;‘a{r&\ ol€ of élevation of 39". If the top of the ramp

1 Ch
is 0.9 m above the grounfl level then ﬁn%&%gpngth of the ramp.
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180, Shyam’s wonthly ineay, {6 Jo. g
8 Ra 1o

and his expenditurg, 000, 11 saven Ru 1200, Find the percont of hig Buvingy
(\) 1055, S0
Q) 80%, 10% ) 109, 90

(1) 90%, 10%

afwnilsh g QLN GQND
fuaup e sgalim dand
() 108, 80% C%
1) q( (

(€ 80%, 104 \,G;z{éi} “@‘(’)Ay, 00%
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Due to incres R » N
case of 30% in t]u, ])1 e ofablour TV the sale is reduced by 40%. What wil] be

the percentage change in 1ncon é?' é@ o
L e
B (A) 10% increase GQ )
AR ’ 3
: (B) 0% decrease R

. {C)  35% decrease
o (D) 22% decrease

»
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A) 10% sifsfiy
B) 10% ganey
C) 35%@eonay

. N ‘:\,‘.‘
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: Find the least number which when ﬂWId‘i b§3§24. 32 and 36 leaves the remainders 19, 27
and 31 respectively. T ~;<U & QJ"-'\
WSS
(A) 280 & B 290
o) 283 : ¢ (D) 300

- §@ e 24, 32 wppib 36 B WEEGH Cung) WepGu 19, 27 whpib 31 areuer Bfurs
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183, Simpligy o258
x+3  x*-9
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X ‘if}ﬁ( The Cost of Tey

o “line . "
T st of foy thing and turhing

Winy 4f at Ra.
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1136, The diameter of ‘ o qf-,é S )‘w\“
> a se . - ‘R. ... .,.'
3 per metre. micircular grass P_})szfé'gg%.‘,b Find the cost of fencing the plat a1 ¢ 12
) TP ,
of o &Y éi:é)c; T 840
{C) T 2160 Q“FQ.,
: QD) T 4320

S@FC L g eflarer yoQeuaf gendldr el b 70 m. ;';1\1\;5;'9@& spm Cardl simwis g Szl
12 &b aaéen Qsacungib. "5 )

(A) % 7700

(@ T 2160
STy
' , N s P
- A circus tent is to be erected in the forﬁDo{naQ’qﬁé surmounted on a cylinder. The total

height of the tent is 49 m diameter of tHe Q%’s'é\xos)%?. m and height of the cylinder is 21 m.
Find the cost of canvas needed to makﬁe t i;ﬁ' the cost of convas is T 12.50/m?
Q

B) T 65352
M T 65532

-

“(A) T 63552
a(C) T 63525
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ished at
: .+ was establis
138. Country’s first t-ransgen_dcr el

(AY  Gujarat
+ (B) Maharashtra
(C) Xerala

(I_)) Assam W— b oTHeFHD Aoy ol Berergy
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i) "‘t}‘&) i teroids?
. : t@jjs Shetbdrevidence of water in asteroids:
139. Which scientific agency recen »-éfc &
: ] .
(B) NASA
(G) ISRO
(D) CASIC
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(A). JAXA '
B) NASA : s T}-
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